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[Organic Chemistry: Basic]
Answer problems (1) through (7).
(1). Show-if compounds 1-3 shown below are 6ptica11y active or not. Provide the reason.

\ , HaC CHg
"N-H L=C=C, >A<
Ph’ Ph CHs

H
1 2 | "og

(2) Which of compounds 4 and 5is a strongér acid? Provide the reason.
> O;
4 5

(3) List the compounds shown below in the increasing order of acidity from left to right.
o) O 0 0

1.1 I hig 1
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(4) Find the main product for the reactions shown below. If applicable, indicate the stereochemistry of each

product.
SH  Naod - F KOC(CHg)s.
@ <:r ’ - (b) HsC o,
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() Ph—=—CHy ——— s () e
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(5) Find the main product for the reaction shown below. Also, show the reaction mechanism using the

curved arrow formalism.

HaCO O AlCl
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OCHj



(6) Show the structure of the product obtained in the reaction below.
O

CHs NaOH.
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(7) Show the reaction mechanism using the curved arrow formalism for the reaction shown below.
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